BECOTER-CHEAEL NAFATT,
S BEEAMA—ILIZTEEShETEEL,
PHEEtEsEL TEL0O120-135-881

BA St 4—bLS R4

*—)L otoiawaseb@turtle—ride.com

K TFEEOEMAENHMIERELGVET, FMIESRBERCEHEE TaWVEYE,
N SHEX mE () 742 557
N SHEX w1 [E(2) 1167 875
N SHEX m = (3) 1028 771
G SHEX w1 [E(4) 1108 831
N SHEX FE) 816 612
N SHEX FE2 645 484
N SHEX FE@Q) 1140 855
N SHEX Fx(1) 1592 1194
N SHEX £%(2) 1589 1192
G SHKX £%(3) 1231 923
E N SHKX fx(4) 2267 1700
E N SHKX az)Il(1) 704 528
E N SHKX 3z )I(2) 720 540
E N SHKX 3z )11(3) 805 604
E N SHKX 3z )11(4) 880 660
E N SHKX (1) 783 587
E N SHKX ZJ11(2) 1182 887
E N SHKX ZJ1(3) 1946 1460
E N SHKX STEE() 857 643
E N SHKX R 4i-10)) 1283 962
E N SHKX STEIEQR) 500 375
E N SHKX STEIE4) 1546 1160
E N SHKX STEIEG) 1551 1163
E N SHKX Q) 128 96
E N SHKX Q) 586 440
E N SHX &iR0) 1051 788
E N SHX &iR(2) 830 623
E N SHX &R (3) 882 662
E N SHX &iR(4) 1319 989
E N SHX aE0) 1455 1091
E N SHX AEQ2) 1179 884
E N SHX AE®Q) 1442 1082
E N SHX aE@4) 1277 958
E N SHX ZAfr(1) 1428 1071
E N EZHX AFr(2) 770 578
Et SHEX AFr(3) 892 669
Et SHEX A4 1126 845
E N SHX EhAGD) 714 536
E N SHX EhAO) 722 542
E G SHX ELhAG) 766 575
E 0t SHEX EhAC) 1309 982
Et 0 SHEX EEEQN) 1161 871
Et 1 SHEX BEEEQ2) 811 608
Et 0 SHEX EEEQ) 799 599
E 1 SHEX f2%0) 1292 969
Et 1 SHEX 2502 419 314
Et 1 SHEX #2%(3) 435 326
Et 1 SHEX 2% (4) 903 677
E 1 S2HRX AEN) 1722 1292
Et 0 S2HRX AIE(Q2) 897 673
Et 1 S2HRX AEQ) 614 461
Et 1 S2HRX AIE4) 2415 1811
Et 0 SHEX F&)I() 684 513
Et 1 SHEX F&)1(2) 834 626
Et 1 SHEX & )1(3) 616 462
Et 1 SHEX F&)1(4) 678 509
Et 0 AKX & )I(5) 1289 967
Et AKX EXd0) 1358 1019




N SHEX EXa0)) 712 534
N SHEX EXa6) 827 620
N SHEX EX30) 1087 815
N SHEX EX46) 1053 790
E 0t SHEX mExQ) 1176 882
E Wt SHEX [ E(2) 1289 967
E 0t SHEX [ E(3) 2037 1528
E 0t SHEX [ E4) 1183 887
E 0t SHEX [ E(5) 2084 1563
E 0t SHEX ERE0) 1500 1125
E Wt SHEX EREQ) 2474 1856
E 0t SHEX HEREQR) 1463 1097
E 0t SHEX HERE@) 1718 1289
E 0t SHEX ERIE6) 1810 1358
E 0t SHEX E R E(6) 2417 1813
N SHEX TBE1) 1058 794
N SHEX BB (2) 2008 1506
N SHKX =H0) 1172 879
G SHKX 2H(2) 1704 1278
E N SHKX =HA) 1611 1208
E N SHKX =2HA) 2143 1607
E N SHKX =HG) 1352 1014
E N SHKX ) 1205 904
E N SHEX 18 F(2) 1894 1421
E N SHEX 18 E(3) 1932 1449
E 0t SHX mEN) 2995 2246
E 0t SHEX mEQ2) 897 673
E 0t SHEX mEQR) 2086 1565
E N SHKX XAE(D) 2714 2036
E N SHKX XAE2) 1059 794
E N SHKX XAE(3) 1079 809
E N SHKX JNIE() 1590 1193
E N SHKX J\IL(2) 1785 1339
E N SHKX JNV/RE)) 1589 1192
E N SHX J\IL(4) 1773 1330
Et SHX I\IL(5) 1391 1043
Et SHX J\JL(6) 1687 1265
Et SHX sr{E(1) 3013 2260
Et SHX SL{E(2) 759 569
Et SHX SL{E(3) 1301 976
Et SHX SL{E(4) 1630 1223
Et SHX SL{E(5) 1615 1211
Et SHX 3L {E(6) 1011 758
Et SHX BEE=H0) 64 48
Et SHX BHEHQ) 526 395
Et 1 SHX BHSHOG) 320 240




